LESSON

EXANMPLE 1:

g Name Date
9.5 i Reteaching with Practice
For use with pages 533-538

[]i].\B} Use the quadratic formula to solve a quadratic equation and use quadratic
) models for real-life situations

WoCcAaBULARY

The sohutions of the quadraﬁ;: equation ax? + bx + ¢ = O are given by

the quadratic formuila

—b x VB —~ dac
2a

-t You can read this formula as “x equals the opposite of b,

plus or minus the square root of & squared minus 4ac, all
divided by 2a.”

x = whena # 0 and b2 — 4qc > 0.

Using the Quadratic Formula

Solve x2 + 3x — 4.
SoLuTION

You must rewrite the equation in standard form ax® + bx + ¢ = 0 before using the
quadratic formula.

X2+ 3x=4 Write original equation.
2 +3x —4=0 Rewrite equation in standard form.
1x2 +3x + (—4) =0 Identifya — 1,5 = 3, and ¢ = —4.
.= —3 =+ /3% — 4(U}(—4) Substitute values into the quadratic
2(1) formula: ¢ = 1,5 =3, and ¢ = —4.
x = 39t 16 29 + 16 Simplify.
x==3 iz‘/zi . Simplify.
x = —32i 3 Solutions.

The equation has two solutions:

-3 +5 —3--5
-—‘*2—_*—1mldx-—‘—2*—~—— 4

Find the vaiue of b* — 4ac for the equation. . .
S 1. 3x2 ~8x—1=0 2.2x2+5x~2=0 3. 15x2 —10x+1 =0

4 42+ x—~2=0 5. % —6x + 4 =0 6. 52— 12x+i=0
Use the quadratic formula to solve the equation.

7. 4 — 13x + 3 =0 B. 2x%> +7x + 3 =0 9. — x>+ x+ 30 =0
10.3x2+7X720=0 . 11. —4x2 +x+ 14 =0 12, 2x%2.—~x — 2 = 0

13.

—2x22 4+3x—1=0 14. 2x%2 + 10x — 5 = O 15. —6x2 + 4x — 1 =0



